
SAP ABAP table /BEV3/CHKACNTRCT {Customer Evaluation Table: Contract}

_BEV3_CHKACNTRCT

MANDT [CLNT (3)]

YVWDNR [NUMC (13)]

VBDTB [DATS (8)]

YVORGE [NUMC (4)]

VWDART [NUMC (4)]

KLASS1 [NUMC (5)]

KLASS2 [NUMC (5)]

KLASS3 [NUMC (5)]

KLASS4 [NUMC (5)]

KLASS5 [NUMC (5)]

VKORG_RG [CHAR (4)]

VTWEG_RG [CHAR (2)]

SPART_RG [CHAR (2)]

VV_PARTNER [CHAR (10)]

VV_OBJEKT [CHAR (10)]

WAERK [CUKY (5)]

IZSCHL [CHAR (6)]

EZSCHL [CHAR (10)]

MEINH [UNIT (3)]

_BEV3_CHCTKLAS1

MANDT [CLNT (3)]

KLASS1 [NUMC (5)]

 /BEV3/CHKACNTRCT-KLASS1 = /BEV3/CHCTKLAS1-KLASS1 

0..N

1

_BEV3_CHCTKLAS2

MANDT [CLNT (3)]

KLASS2 [NUMC (5)]

 /BEV3/CHKACNTRCT-KLASS2 = /BEV3/CHCTKLAS2-KLASS2 

0..N

1

_BEV3_CHCTKLAS4

MANDT [CLNT (3)]

KLASS4 [NUMC (5)]

 /BEV3/CHKACNTRCT-KLASS4 = /BEV3/CHCTKLAS4-KLASS4 

0..N

1

_BEV3_CHCTKLAS5

MANDT [CLNT (3)]

KLASS5 [NUMC (5)]

 /BEV3/CHKACNTRCT-KLASS5 = /BEV3/CHCTKLAS5-KLASS5 

0..N

1

_BEV3_CHCTZNSCHL

MANDT [CLNT (3)]

ZNSCHL [CHAR (6)]

DATAB [DATS (8)]

 /BEV3/CHKACNTRCT-IZSCHL = /BEV3/CHCTZNSCHL-ZNSCHL 
0..N

1

_BEV3_CHTBVORGE

MANDT [CLNT (3)]

YVORGE [NUMC (4)]

 /BEV3/CHKACNTRCT-YVORGE = /BEV3/CHTBVORGE-YVORGE 
0..N

1

_BEV3_CHTCKLAS3

MANDT [CLNT (3)]

KLASS3 [NUMC (5)]
 /BEV3/CHKACNTRCT-KLASS3 = /BEV3/CHTCKLAS3-KLASS3 

0..N

1

_BEV3_CHTVWDART

MANDT [CLNT (3)]

YVORGE [NUMC (4)]

VWDART [NUMC (4)]

 /BEV3/CHKACNTRCT-VWDART = /BEV3/CHTVWDART-VWDART 
0..N

1

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 /BEV3/CHKACNTRCT-VV_OBJEKT = KNA1-KUNNR 

0..N

1

 /BEV3/CHKACNTRCT-VV_PARTNER = KNA1-KUNNR 

0..N
1

T000

MANDT [CLNT (3)]

 /BEV3/CHKACNTRCT-MANDT = T000-MANDT 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 /BEV3/CHKACNTRCT-MEINH = T006-MSEHI 

0..N

1

T056R

MANDT [CLNT (3)]

REFERENZ [CHAR (10)]

 /BEV3/CHKACNTRCT-EZSCHL = T056R-REFERENZ 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 /BEV3/CHKACNTRCT-WAERK = TCURC-WAERS 

0..N

1

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 /BEV3/CHKACNTRCT-SPART_RG = TSPA-SPART 

0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 /BEV3/CHKACNTRCT-VKORG_RG = TVKO-VKORG 

0..N

1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 /BEV3/CHKACNTRCT-VTWEG_RG = TVTW-VTWEG 

0..N

1


